


(iv) Which of the following is not a feature of class?

(a) Class does not have any religious or legal sanction

(b) ‘It isnot an open system of stratification

(¢ Membership of class is primarily based on achieved status
(v)  Which of the following is not a feature of out group?

(a) A group to which an individual feels individual has no sense of
belonging identification

(b) it is a "they group”
(¢ Itisa "we group"
(vi) When was the ILO formed?

() 1939
®) 1919
© 1949

(vii) Which one of the following is not an economic causes of industrial dispute?
(a) Retirement benefits
(b) Indiscipline BiA CHOVIL
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(viii) Which of the following does not constltute retrenchment"
(a) Voluntary retirement of a workman
(b) Retirement for reaching the age of superannuation
(¢) Termination of services due to lock-out
(ix) - Which of the following is not an intra-mutual activity of trade unions?
(a) To fight for the provision of economic benefit plans
(b) To foster a spirit of co-operation and friendly relation
(©) To secure better condition of works and employment
(x) Which of the followmg is a true statement?

(a) Productivity is the ratio of output of the commodity to the input of the
factor

(b) Productivity is the ratio of output of the commodity to the input of
labour

(¢c) Productivity is the ratio between output of production and input of

capital
2. (a) What do you understand by sociology? 'Discuss sociology as a scientific
discipline. (2+6=28)

(b) Discuss the relation of sociology to other social sciences. (7)
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